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QUESTION 1

An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The
administrator wants to ensure that VMs run on separate hosts without interfering with normal maintenance operations.

How should the administrator configure Distributed Resource Scheduler (DRS)? (Choose the best answer.)
A. Create a ‘Must run Virtual Machines to Hosts’ anti-affinity rule.

B. Create a ‘Virtual Machines to Virtual Machines’ anti-affinity rule.

C. Create a ‘Virtual Machines to Virtual Machines’ dependency rule.

D. Create a ‘Should run Virtual Machines to Hosts’ anti-affinity rule.

Correct Answer: B

Reference:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-7297C302

378F-4AF2-9BD6-6EDB1EOA850A.html

QUESTION 2

Which virtual disk option allows a virtual machine to consume the minimum storage capacity? (Choose the best
answer.)

A. Independent persistent

B. Lazy-zeroed thick-provisioned
C. Eager-zeroed thick-provisioned
D. Thin-provisioned

Correct Answer: D

QUESTION 3

How does vSphere handle memory allocation during the instant clone process? (Choose the best answer.)
A. The first child virtual machine serves as a memory snapshot for any subsequent child virtual machines.
B. An identical clone of the parent virtual machine\\'s memory is created for each child virtual machine

C. Memory is shared among all child virtual machines using a delta disk.

D. A uniqgue memory pool is created per child virtual machine using copy-on-write.
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Correct Answer: A

QUESTION 4

A vSphere environment is configured with 1 Gigabit Ethernet for vSphere vMotion. The application team is complaining
that when they try to migrate a powered-on virtual machine, the progress is slow and unsuccessful the majority of the
time.

Which two recommendations should the administrator make to improve vSphere vMotion performance? (Choose two.)
A. Use at least two port groups.

B. Use vSphere Storage 1/0 Control (SIOC).

C. Use 10 Gigabit Ethernet or above.

D. Use Link Aggregation Control Protocol (LACP) on the port group.

E. Disable vSphere Fault Tolerance.

Correct Answer: CE

QUESTION 5

An administrator is tasked with upgrading an existing vSphere environment to version 7.0. The current configuration is
using an external Platform Services Controller.

Which two statements are true regarding this upgrade? (Choose two.)
A. The external Platform Services Controller needs to be converged into an embedded vCenter Server Appliance.

B. The external Platform Services Controller needs to be decommissioned following the deployment of the new vCenter
Server Appliance.

C. The external Platform Services Controller backup can be restored to a new embedded vCenter Server Appliance.
D. The external Platform Services Controller needs to be upgraded after the vCenter Server Appliance.

E. The external Platform Services Controller needs to be powered down while a new vCenter Server Appliance is
deployed.

Correct Answer: CE
Reference:

https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vcenter.install.doc/GUID-
ACCD28140F0A-4786-96C0-8C9BB57A4616.html
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